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[Arbeitsblatt-Titel] [Name, Klasse, Kat.-Nr.]

A
al(t) = Jlt—) Jlt [0, t1]
ay(t) = Jp-ty [ts; to]
assuming symmetry (t, = t5-t4)
t3
t 2
2
V_maX(tl,t3,J1) =2 J al(t) dt + az(t) dt | > J]'tl + J]'tl'(t3 - 2t1)
0 t
t3 2
yS Ipte(ty - 20)
1 2 . +
2 2
a_avg(tl,t3,J1) =— a;(t)dt + a(t)dt | —>
3 1Y " t3
) 2-t 2-t
ipet(t ) = — > —
t3 t3
0) Jt (t)d i gy
Vi t) = a; t_ t_—) e 1
vi(t) > —
0 2 1(t) 5
2
' Jirty
vt) = | at)dt +v(t)— vo(t) expand —> J,-t-t; — ——
t 2
2 2 2
. . J]'(t - 2't't3 + 2't1 - 2't1't3 + t3 )
V3(t) = Vl(tl) — V](t3 — t) + V2(t3 — tl) V3(t) Slmp]lfy —> )
Vi) = v3(t3)
t t3—t t t 2
d_end(t;, t3,t4,J,) := 2- vi(t) dt + vo(t) dt + v dt+ | vy(t)dt| —> -
0 t t3—t t3 3
t
t3
J_pct(tl,t3) = Jpet solve, ]
1
= . 2
. a—an(tl’t-”’Jl) = Bavg Jpct'Vmax  Vmax 4'aavg Vmax dend
Solution := ( I ) b 2 3 ( 2) 5 >
v_max|ty,t;, =, -a, a “Vinax® - -a -V,
— JERSERS max simpli fy avg avg Jpet” Vmax Upct avg max
d_end(t15t3at4a‘]1) = dend
2
. pet'Vmax  Vmax 4'aavg Vmax dend
Solution — - -
2'aavg davg Jpct'Vmax'(Jpct - 2) 2'aavg 2-Vinax
. .. T jpct'Vmax
tl(VmaX,aavg, _]pct,dend) = (Solutlon )0 - —
2-aawg
. . T Vmax
t3(VmaX,aavg, _]pct,dend) = (Solutlon )1 -
a'avg
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Vimax dend
+

. . T)
t4(VmaX,aavg, _]pct,dend) = (Solutlon 3 > v
avg max

2
4-aaVg

) .. T
Jl(Vmaxsaavg’JPct’de“d) = (Solutlon )2 - jpct'Vmax'(jPCt N 2)

]
End Position: depg == 1000
Peak Speed: Vinax = 1400
Avg. Accel: ay = 2600
% of Time Jerk  ji = 50%
A
T = T1(Vinaxs 2avgsdpet» dena) = 25752.380952
t1 = t1(Vipaxs Qavgspet» deng) = 0.134615 t3 = t3(Vinaxs QavgsJpet s dend) = 0.538462
ty:= t; — t, = 0.403846 tg = t4(Vinay Qaygs Jpt s dend) = 0.626374
a(t):=|Jtif 0ty a(t):=la(t) if 0<t<ty
otherwise —a_(2-t4 - t) otherwise
Jitp if 0<t<ty
otherwise
Tty —t) if 0<t<ts
0 if t< 2.ty — t3 otherwise
]
TIME Accel Time: ;= 0.53846 ACCEL Peak Accel:  a(t)) = 3466.67
End Time: 2.ty = 125275
Peak Jerk:
JERK eak Jer J, = 25752.4
dend
SPEED Avg. Speed: = 798.246
n
2ty
nr_of points := 100 ti=0,— .24

’ nr_of points '
jerk

ia(t) } ’
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